VS - SEF/IES,

A - M6 Nylon Lock Nuts
B - Mounting Bracket

C- M6 Allen Bolt

D - LED Light

E - Carriage Bolt

F - Carriage Washer

G - Carriage Lock Washer
H - 5/16" Carriage Nut

Rigid Industries warrants that this product will be free from defects in material
and workmanship. If you believe your Rigid Industries product is defective, it
must be returned to Rigid Industries for inspection by our warranty claims
department. If, after inspection, Rigid Industries verifies that the defect was
not caused by negligence, abuse, unauthorized repair or disassembly, Rigid
Industries will determine whether the product will be repaired or replaced in
accordance with Rigid Industries Limited Lifetime Warranty*.

Warranty Periods:
« All LED Lights - Limited Lifetime

« Accessories and Mounts - 2 years

« Flashlights — 1 year
« Batteries — 90 days

Warranty Coverage:

To begin your warranty claim, you must have a Return Merchandise
Authorization (RMA) number. To get your RMA number, please contact
our warranty department by phone at 480-655-0100 ext. 1008, or by
filling out the Return Merchandise Authorization Form on our website.

All of the following will immediately void all warranties:

- Customer negligence — The customer has modified the light and/or is not using it
for the recommend application.

« Customer abuse - Damage to the light beyond normal wear and tear.

« Repair work done by unauthorized personnel without Rigid Industries’approval.

- If the light has been opened or any screws have been removed.

All warranties are non-transferable. Warranty terms and policies are subject to
change without notice.

*For all information regarding the Rigid Industries’ Limited Lifetime Warranty
please call 855-760-5337 ext. 1008, email warranty@Rigidindustries.com, or
visit our warranty page online at RigidIndustries.com/Warranty.

~ %/ RIGIDINDUSTRIES
72K PRanicTINSTRUCTIONS

D-SEFFIES,

IS-D-SRQ

C &=
H\_J

I/T@_

A - M6 Nylon Lock Nuts
B - Mounting Bracket

C - M6 Allen Bolt

D - LED Light

E - Carriage Bolt

F - Carriage Washer

G - Carriage Lock Washer
H-5/16" Carriage Nut

LUEIEEIRIN Ty

NS

Rigid Industries warrants that this product will be free from defects in material
and workmanship. If you believe your Rigid Industries product is defective, it
must be returned to Rigid Industries for inspection by our warranty claims
department. If, after inspection, Rigid Industries verifies that the defect was
not caused by negligence, abuse, unauthorized repair or disassembly, Rigid
Industries will determine whether the product will be repaired or replaced in
accordance with Rigid Industries Limited Lifetime Warranty*.

Warranty Periods:
« All LED Lights - Limited Lifetime

+ Accessories and Mounts - 2 years

« Flashlights — 1 year
- Batteries - 90 days

Warranty Coverage:

To begin your warranty claim, you must have a Return Merchandise
Authorization (RMA) number. To get your RMA number, please contact
our warranty department by phone at 480-655-0100 ext. 1008, or by
filling out the Return Merchandise Authorization Form on our website.

All of the following will immediately void all warranties:

- Customer negligence - The customer has modified the light and/or is not using it
for the recommend application.

« Customer abuse — Damage to the light beyond normal wear and tear.

- Repair work done by unauthorized personnel without Rigid Industries’ approval.

- If the light has been opened or any screws have been removed.

All warranties are non-transferable. Warranty terms and policies are subject to
change without notice.

*For all information regarding the Rigid Industries’ Limited Lifetime Warranty
please call 855-760-5337 ext. 1008, email warranty@Rigidindustries.com, or
visit our warranty page online at Rigidindustries.com/Warranty.

YOURPRODUCTINTRODUCTIONANDINSTALLATIONGUIDE.
wossissssssssss., WHWRIGIDINDUSTRIES.COM

% %RIGIDINDUSTRIES

72>~ 72.PRODUCTINSTRUCTIONS

D-SEFFIES,

A - M6 Nylon Lock Nuts (2)
B - Mounting Bracket

C- M6 Allen Bolt (2)

D - LED Light

E - Carriage Bolt

F - Carriage Washer

G - Carriage Lock Washer
H-5/16"Carriage Nut

D-SEFIES,

IS-D-SRQ

YOURPRODUCTINTRODUCTIONANDINSTALLATIONGUIDE.
oo, WNWRIGIDINDUSTRIES.COM

D-SEFIES,

A - M6 Nylon Lock Nuts (2)
B - Mounting Bracket

C- M6 Allen Bolt (2)

D - LED Light

E - Carriage Bolt

F - Carriage Washer

G - Carriage Lock Washer
H - 5/16" Carriage Nut




Congratulations on your purchase of Rigid Lights!

Rigid Industries’ patented optics allow our lights to throw more
light, more accurately than any other competitor. Combine that
with Rigid’s cutting edge electronics and extrusion design and the
choice is clear! Don’t forget about our limited lifetime warranty!

I. Assemble your LED light kit by attaching the mount [B] to the
housing [D] using the provided bolt(s) [C] and nylon lock nut(s)
[A]. Tighten until snug. Use the remaining bolt, washers, and nut
[E, F G, H] to mount the completed light assembly.A 5/16" hole is
required.

2. Disconnect the negative battery cable from the battery.

3. Attach the eyelet at the end of the red wire to the positive
terminal of your battery or to any 12V DC source. Secure the
black wire to the negative battery terminal or any suitable
ground. Route the wire harness to the switch location and to the

light(s).

4. Use the appropriate fuse for the type and quantity of lights used:
Dually, SR-Q — 5A (single), 0A (pair)
D2, SR-Q2 — 10A (single), I5A (pair)

5. If your electrical system is 24V DC, be sure to install a 24V relay
between the fuse and the battery.

6. Once all electrical connections are secure, reconnect the positive
battery cable and test your new lights for proper function.

7. Adjust the projection angle and finish tightening the pivot bolt(s).

For technical support call us at 855-760-5337.

*Rigid Industries always recommends installation from an
industry professional. Be sure to read warranty information on back.

Congratulations on your purchase of Rigid Lights!

Rigid Industries’ patented optics allow our lights to throw more
light, more accurately than any other competitor. Combine that
with Rigid’s cutting edge electronics and extrusion design and the
choice is clear! Don’t forget about our limited lifetime warranty!

I. Assemble your LED light kit by attaching the mount [B] to the
housing [D] using the provided bolt(s) [C] and nylon lock nut(s)
[A]. Tighten until snug. Use the remaining bolt, washers, and nut
[E, F G, H] to mount the completed light assembly.A 5/16" hole is
required.

2. Disconnect the negative battery cable from the battery.

3. Attach the eyelet at the end of the red wire to the positive
terminal of your battery or to any 12V DC source. Secure the
black wire to the negative battery terminal or any suitable
ground. Route the wire harness to the switch location and to the
light(s).

4. Use the appropriate fuse for the type and quantity of lights used:
Dually, SR-Q — 5A (single), |0A (pair)
D2, SR-Q2 — [0A (single), I5A (pair)

5. If your electrical system is 24V DC, be sure to install a 24V relay
between the fuse and the battery.

6. Once all electrical connections are secure, reconnect the positive
battery cable and test your new lights for proper function.

7. Adjust the projection angle and finish tightening the pivot bolt(s).

For technical support call us at 855-760-5337.

*Rigid Industries always recommends installation from an
industry professional. Be sure to read warranty information on back.

/

Minimum Fusing
Requirements
- SR-Q & Dually

(5 amps single - 10 amps pair)
- SR-Q2 & Dually D2

(10 amps single - 15 amps pair)

Battery Eyelets
- Red to positive
- Black to negative

Switch Wiring
Black wire to gold prong (switch ground)
Red wire to middle prong (black strip) (switch output)
Red wire to remaining prong (switch power)

Dually D2 & SR-Q2 when in pairs
Black wire to gold prong (switch ground)

Blue wire to middle prong (switch output) I
Red wire to remaining prong (switch power) Y

.. Drill 3/4” Hole
“ to Install Switch

/

Mimimum Fusing
Requirments
- SR-Q & Dually

(5 amps single - 10 amps pair)
- SR-Q2 & Dually D2

(10 amps single - 15 amps pair)

Battery Eyelets
- Red to positive
- Black to negative

Switch Wiring
Black wire to gold prong (switch ground)
Red wire to middle prong (black strip) (switch output)
Red wire to remaining prong (switch power)

Dually D2 & SR-Q2 when in pairs

Black wire to gold prong (switch ground)
Blue wire to middle prong (switch output) Vi

Red wire to remaining prong (switch power) 4 & Dril 3/4” Hole
to Install Switch

COVERS & ACCESSORIES

I=IVI=III_FIBLEl

JK A-Pillar Brackets

Fog Light Replacement Kit

Visit RigidIndustries.com for more accessories!

COVERS & ACCESSORIES

I=IVI=IILFIBLEI

W«ag /

w'ua ;

Fog Light Replacement Kit JK A-Pillar Brackets

Visit Rigidlndustries.com for more accessories!



